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2023

ECONOMICS
( Honours Elective )
Paper : ECO—HE—6016
( Environmental Economics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
TS fAICRA TR Teq fian

(@) What is mearit by environment?

Az et R 2
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Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Ansuwer either in English or in Assamese

1. Answer the following as directed : 1x10=10

oS A TR Tee fran

(@) What is mearit by environment?
F, B Eﬁkh‘ 9 .
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(2)

Which of the following is non-renewable
natural resource?

(Chbose the correct option)

TR (PCO] SRS ARG 7% ?
(o Resch IR Ofren)

(i) Water
oAt

(i) Air
RL

(iii) Petroleum product

cofg*were AR
(iv) Fish and Cattle

TE T O
What is public goods?
e 79 B2

Define property right.

oy SR g fen |

Who has put forward the theory of
“Tragedy of Commons’?

Wﬂw ; .?.‘

{ Continued )

(3)

() Mention one type of market-based
instrument for controlling pollution.
oFd T @ @ R |E B
A BE ¥

(g) Hydrocarbon gas is the major cause of
air pollution all over the world.

(Write True or False)
RGIRA Cﬁii’amﬁﬁﬁmﬁm GRR
A4 FRA
(@1 @ =prey o)
(h) Ozone layer absorbs ____ radiations.
(Fill in the blank)
T’ BA RR= e 33 |
(310 372 =@ F0)
() What is travel cost method?
9 I S 2
() Write the full form of TEV.
TEV 3 57 Fefeor o |
2. Answer the following questions :

T PRI T A

() What are the different types of
externahty? I -

MR RS emEr & R 2
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(b)

()

(d)

(e)

(4)

Mention two consequences of global
warming.

CTeTPH B3eo To1-“IR By =

What is environmental pricing?

R 2

Distinguish between strong sustain-
ability and weak sustainability.

T ITTHAS] WF YdA IO oS X1
{3 foram |

Mention two ways in which biodiversity
loss may occur:

(& (IR SIS I AR [ FRT Srmy
1

3. Answer any four of the following questions :

Sx4=20

(@) Write a note on the need of the study of

.. environmental economics.
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MR SRS sy 9] ﬁamﬁﬁma bk |
«af et faray |

{ Continued )

(b)

(c)

(@)

(e)

4. Answer the following questions :

(5)

What are the main reasons of market
failure?

TEH RFeror o4 FRIEH & &[5 2

Explain the main characteristics of
public goods.

E=AN T919 a1 MBI M 30 |

Discuss briefly the main indicators of
sustainable development.

TRy T SRl SR Ry
ST AT F9 |

Write a short note on development-
environment trade-off,

TR RIS Ryew 9o 55 G forar

Why do we need environmental
o o
valuation? Give reasons.

“IfRTe JEIRA S R =t 2 IR e |

©old SPIRNT Seq fu ¢

(a)
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Explain elaborately the nature and
scope of environmental economics.

WW@WWWWWW
3 A
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o) .
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(6)

Or / ©<11
State the concept of free riding problem.
How is it related to market failure and
public goods?
€ HIERT APIE AR®@ [0 € g3
FPURET ISR RFerel ¢ IEW T[N A0
R wfe ?

What is pollution control? Explain, in
detail, the different economic instru-
ments for pollution control.
Rt o fawge R AR o@a feee
IR 7 RS WW RN Regoei
A 01

Or/ 91
What do you mean by Tragedy of
Commons? Is there any policy to
overcome the problems of tragedy of
commons? Discuss.
TLTROE R CTeRRS e O R @2
Ao PR CTRIERS! TP SR 3T
R QS 1T 7 SCESAN F49
Explain the . causes responsible for
climate change. Givé some suggestions
to solve the problem ansmg for chmate
change.
TR ARG @R FRPTR I 30 1 R
TS Tq A1 PN IR WA (FHAN
o fieam 1

{ Continued )

(7)

Or / &=[1

Discuss about the different stages
of conducting contingent valuation
method for environmental accounting.

AT MR I R TEMWATF A
RfSCor RISH BIRR AT I |

({d) Discuss the various rules of sustain-
ability to achieve its goals.

IZH T T MR AR W e vew
o1 RfSw IR Scam=n <41 1

Or/ o1

Explain, in detail, the concept of green
accounting. Why is green accounting
very important at present?

CE AFH ROl I I 901 Gios
SR YRICHT ISTFTS SIS ATy Ry 9

* % %
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